EARAZROREIERT — 2 N—XBISY —F 2018558 16H (/) 2@]IIE3H

m XA T757—8 (hRIZH) Y57%3E ‘ [X] % ‘ [RErE] - | 4 (&) 15000 &
[A&4£] 1 7 :2,500,000 @ 23 :1,000,000 33 :625,000 4 3#%&:375,000 @ . 5 7 :250,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N AEEE :35. -1-1- . — #ZIUBEAE (Fhk)
(sl 77755192 3 e 1(3_5)8 1-1-1-1 | 40.7 1 :ﬁsg) b
L:d—IWR7Ya—)b B:AF MIATN=2 IRATH
— ; : 3 | EIFEAER 1:36.4 11-11-11-8 | 39.3 | — 9 414 | WIREIE (fafE)
s 5| TAF TR R & 2y | B 1271774
R:b—t>TS504 b+ B:77E—H BRRStt IXF1T77—LA
> — 4 3 | SHER 1:36.5 7-8-3-2 | 40.3| — 4 466 | EmAE (1)
36| TR 56.0 (7€) C | EE—A
R:F14—T2Zh4 B:~RZF3IO0-F BENEHSS
. FREMER : -9-7- — AEBEE (1)
al5lg|pF—no1> 4 3 9 1(.33/%6 9-9-7-5 | 40.1 8 51:322) e
LNMVTSY Baxdrwd T2 NG
- S 4 3 | ABAH 1:36.9 10-10-9-7 | 39.9 | — 7 480 | SFHEER (J11IF)
58|13 YF¥AT 56.0 112 o) | ARER
L:7)F =Y BiA-N—HFL-> piézie]
IS 4 3 | mEY 1:37.2 8-7-5-5 | 41.0| — 6 432 | FIEHEEZ (R)
6l1/1/E3>K 56.0 (1 1/2) () |FmE
AN WY1 —T BIZ—FINEXRR Lakibae
—: ST 4 3 | BSAIEM 1:37.7 2-2-2-4 | 42.4| — 3 440 | REEE (BR)
717211 TaTNY Y 54.0 21/2) (+12) FAFLANSTT ()
R:7v3iIs—L B:v—d-> /B H—
_ R . (|2 . a4 — EHR (fR)
he— T g T > 3| Bl (11.318/.20) 3-3-4-3 | 42.1 12 <4+336) i
x4 avk—-5— B:FH—rFv—L BNILB%ES
N & EREH :38. 56— . — TERE (Fhk)
TJY—H—TZ 3 s 1(3:3)8 6-5-6-9 | 42.6 2 ;1_413; e
ANKRATIVG BiL—X40y b =Y Tr—LA
" © n@ el |5 :39. —-12-10- . - mig— (1)
S—JL KINF— "SR i 319/21> 121271010 41.6 i ?_539) =ARE
:ANFRTNG B:F ¥ E-FZ Il &
ot 2 3 | FlBEKX 1:39.2 5-6-8-12 | 42.4| — 5 465 | KIEBEAN (FR)
ANRA T — % 56.0 (3/4) (+5) allES
SMZRFAD- K BiLT4FTFw R HET7—L
S, B3 | WHER 1:39.3 13-13-12-11| 41.4 | — 14 | 434 |fEEESIC (1)
TIATA 54.0 (1/2) i) | ) =7 2k p
x40 B XF—=71)—-X> fisibie]
o pr—, 30, 443l 410 — )
rag> % 3 A 1 (319)5 14-14-14-13| 41.0 12 ;1_139) e
LN T—I—b B:wAxINMN)DT I)::Eaec]
o S S ZFAL 143, -4-13- . — R — (PR)
EASE A 4 3 2 (19{(3;) 3-4-13-14 | 46.7 10 (4+728) e
R:O—X%>J4L B:EIZYI—L ke
® 1—F—@EBIERL
13—7— 7,11,(3,14) ,4,2,6,1,8,13,5,12,9,10
23—+ — 7,11,3,14,2,4,1,6,8,13,5,12,9,10
Ja=5= 7,11,6,3,1,2,8,4,13,12,5,9,14,10
40—+ — 7,6,3,11,(1,8),13,5,2,12,9,4,10,14
[ N5
B O 7 250M 714K 5-7 2,060/ e E 4-5 760M JEE 5-6-7 12,710M
B B 7 130H4 6-7 380M e B 5-4 910M 3EE 7-5-6 55,350
5 1,050 5-6 2,910 B & 5-7 7,050
6 180 B HE 7-5 7,970
ABICOVWTRHDTERERRODLDE, THERLE,




